2009 UIUC HIGH SCHOOL SOLO ROUND 3

Questions by:  Donald Taylor, Mike Sorice, James Sanner, Trygve Meade, and the writers of BATE

1.  Justice is called the "maiden-child of Zeus in this work, in which one figure in this work claims that "hurt, with dishonor, wins no words of praise" and "words shall not blunt the edge of my resolve," while the leader of the Chorus asks that he "heed women's voices, though thou love them not."  This drama features a vow made using blood from the head of an ox, and a prophecy declared that two figures would both obtain glory by iron.  The argument at the end of this play stems from a decree that one figure is to not be buried.  Antigone defies the order and plans to bury her brother Polyneices at the conclusion of, for 10 points, what Greek drama by Aeschylus?

ANSWER:  Seven Against Thebes [accept Hepta ebi Thebas]

2.  The area “Hat man nicht auch Gold beineben” is found in this piece, which also features “Jetzt Schatzchen, jetzt sind wir allein” in Act 1.  In this work, one figure promises to dig a grave if his boss will kill a hated enemy, and Marcelline is engaged to Jaquino the porter, but falls in love with the title figure.  Shortly after one figure pulls out a pistol on the governor, trumpets signal the arrival of Don Fernando.  Rocco takes on the title figure as an assistant, Centering on the relationship between Florestan and Leonora, for 10 points, identify this opera, the only one by Beethoven.

ANSWER:  Fidelio

3.  He was victorious at the battle that saw the death of Louis II of Hungary, and he would back John I Zapolya as a successor.  Barbarossa commanded his fleet, which notably failed to take Malta and also lost at Tunis.  This ruler would also defeat the Knights Hospitalers at Rhodes, and following his death, his son Beyazid revolted.  Dying during a siege of Szigetvar, he allied with Francis I against Charles V, and perceiving a threat, had his son Mustafa executed.  The son of Selim the Grim, he was victorious at the battle of Mohacs.  For 10 points, identify this "Magnificent" Ottoman sultan.

ANSWER:  Suleyman I [accept Soliman, ISuleyman the Magnificent (until end), Suleyman the Lawgiver, Kanuni, or Suleyman Muhtesem]
4. This event begins when a cysteine protease hydrolyses cohesin, and microtubules begin to depolymerize at the + end to form a sliding collar. Monosomies can result from this event’s namesake lag, and it can fail to begin due to improper or absent cleavage machinery to inactivate M-phase cyclin. Movement of some important structures is achieved by the activity of kinesis and dyneins on microtubules, with force being exerted on kinetochores.  For 10 points, identify this stage of mitosis following metaphase in which chromosomes move toward the opposite poles of the cell.

ANSWER: anaphase
5.  One thinker associated with this school of thought wrote the book The Phenomenology of Perception, and was named Maurice Merleau-Ponty. The author of Ideal and Difference and Being and Time, Martin Heidegger, was associated with this school of thought. The “Other” and the “Look” are two concepts associated with this school of thought, which  The author of The Rebel and The Myth of Sisyphus is associated with this school, and so is the author of Being and Nothingness.  For 10 points, identify this school of thought which more famously included Sartre and Camus, which claims that philosophical thought should focus on the realities of human existence. 

ANSWER: Existentialism
6.  A contingent of this team’s supporters were crushed at Hillsborough during a match against Nottingham Forest, and after being granted the right to pick his own players, Bill Shankly joined this club as manager in 1959.  Achieving a treble in 2001, this team played in the 1985 Cup final that was the sight of the tragedy at Heysel Stadium in Brussels.  In 2007, this club lost to AC Milan in the UEFA Champions League final, having come back from a 3-0 deficit to defeat them two years prior.  Calling Anfield home, for 10 points, identify this English soccer club managed by Rafael Benitez, known as the Reds.

ANSWER:  Liverpool Football Club
7.  Preparation for it involves entrance into ihram, a state of spiritual purity, followed by a recitation of the Talbiyah prayer, and sewn clothes are forbidden, as is hunting.  Including Mufrad, Tamattu, and Qiran types, cutting one’s hair is done as a symbol of its completion, and it includes the throwing of seven stones at a pillar in Mina.  Adherents to it spend a day in Arafah, and in commemoration of the search by Hagar, it also includes running back and forth between Safa and Marwah.  Actions taken during it include istlam, or circling the Black Stone, which is also circled several times.  For 10 points, identify this pillar of Islam that consists of a voluntary journey to Mecca.

ANSWER:  hajj [prompt on pilgrimage to Mecca until the end]

8.   He was awarded the Order of Lenin for his oversight of the construction of the Moscow subway, and under Stalin he began planning agrogorod, or farming towns.  Engineering the execution of Lavrenty Berla, he engaged in a power struggle with Georgy Malenkov.  Bluffing when he stated that long-range missiles were rolling off the assembly line "like sausages," John Foster Dulles called Sputnik this leader's "boomerang."  The U-2 affair took place during his Premiership, and he was the target of a coup led by Leonid Brezhnev.  For 10 points, identify this Soviet leader during the Cuban Missile Crisis.

ANSWER:  Nikita Sergeevich Khrushchev

9.  One figure in this story argues that “he that has not, nor desires to have, is rich,” and will be gentle when I do begin / To live in virtue and to do no sin.”  The action opens with a bachelor raping a maiden, after which King Arthur initially sentences him to death.  The central figure in this work attempts to renege on his promise to marry an old hag, after which she gives a speech and makes him an offer:  she can be ugly yet faithful, or beautiful but cheat on him.  For 10 points, identify this Canterbury Tale in which the storyteller admits to having had five different husbands.

ANSWER:  “Wife of Bath’s Tale” [accept Tale of the Wife of Bath]

10.  In a certain range it can approximated using Hardy’s approximation and it has a fixed point at Dottie’s number, a value roughly equal to .74. A discrete transform of this type is used in compressing JPEG images and it’s hyperbolic form can be used to describe the shape of a catenary. The dot product between two vectors is equal to their norms times this function and its namesake law can be viewed as the Pythagorean theorem extended to any kind of triangle. Its hyperbolic form can be written as  the sum of e to the x plus e to the negative x all divided by two and the first three terms of its Taylor series expansion are 1 minus x squared over two plus x to the fourth over 24. For 10 points, name this function that is the multiplicative inverse of the secant function and can be calculated in a right triangle as adjacent divided by hypotenuse.  

ANSWER: Cosine function  

11.  James Hallford, a plaintiff-intervenor in this case, had been previously arrested for violation of Statute 1196, which was declared unconstitutional.  Justice Blackmun wrote the majority opinion in this case, which outlines the application of the compelling state interest standard.  It cited Griswold v. Connecticut when holding that the action in question fell within the right to privacy, and its scope was later narrowed by Planned Parenthood v. Casey.  For 10 points, identify this 1973 case that overturned numerous state abortion statutes.

ANSWER:  Roe et al v. Wade [accept in reverse order]

12.  In this work, the speaker lived on like "a thousand thousand slimy things," and claims that "an orphan's curse would drag to hell / a spirit from on high."  Calling God a figure who "made and loveth all" and "scarce seemed to be there," at its conclusion, one figure, a "sadder and wiser man," "rose the morrow morn."  Told by a wedding guest, the title figure ended up wearing around his neck an albatross he had shot earlier.  Containing the lines "water, water everywhere / nor any drop to drink," for 10 points, identify this poem about a sailor by Samuel Taylor Coleridge.

ANSWER:  "Rime of the Ancient Mariner"
13.  A "new" one of these introduces capacity utilization and production costs as factors, and Edmund Phelps challenged the theory behind it, arguing that it did not apply to well-informed, rational employers, and ended up developing an "expectations-augmented" one.  Often used to link price rigidity and movements in the real economy, the rationale behind it broke down during the stagflation of the 1970s.  For 10 points, identify this curve that shows the change in wage-rate inflation as it relates to the unemployment rate.

ANSWER:  Phillips curve

14.  One figure in this painting is wearing a gold ring with a red stone on his index finger, which can be seen at the bottom, and at the top of this work is a red dome with a white cross on top.  A necklace of beads with a cross is seen in the lower right of this painting, and the left side features a woman milking a cow.  The upper right of this painting shows a man carrying a sickle, and above it is a row of five houses.  Two of those houses are upside down, and a man with a green face dominates the right side of this painting, which features an upside down woman.  For 10 points, identify this painting by Mark Chagall.

ANSWER:  I and the Village [accept Me and My Village]

15.  A high pressure jump near it indicated that the transition from high field phase to paramagnetic phase is first order for Helium.  The ITS-90 temperature scale uses a portion of this value for Neon, Oxygen, and other materials as definitions for some of their temperature points.  For water it occurs about .01 degrees Celsius above the normal freezing point.  For most substances the liquid phase can only occur at higher temperatures, and in all substances it can only occur at higher pressures.  Occuring in water at .01 Kelvin and 4.56 millimeters of Mercury.  FTP, name this spot on a phase diagram where solid, liquid, and gas can exist in equilibrium. 

ANSWER: Triple Point
16.  At Abu Simbel, Nefertari is depicted as this goddess, and she is sometimes referred to as the “Lady of the Limit.”  During the fight between Horus and Seth, she strips and dances around Ra’s throne until she cheers him up.  Often associated with the sistra and menat, in one story she nearly destroys all of humanity before another deity gets her drunk.  After turning into a cat, Thoth coaxes her back to Egypt, and during the journey, she bathes in the Nile, which turns red.  The “Eye of Ra,” her headdress features horns and a sundisk.  For 10 points, identify this Egyptian deity, usually depicted as a cow.

ANSWER:  Hathor
17.  Tupungato is found within its Principal Cordillera, and Featuring Normal and Polish routes, one would also find the Horcones Lagoon on it.  Camp Canada is found near its summit, and camping is forbidden in the Plaza Francia.  It was first ascended by Matthias Zurbriggen, and it is also referred to as the “stone sentinel.”  The Horcones and Vacas rivers are found on it, and one would take the RN7 road to reach the statue of Christ the Redeemer.  Found in Mendoza province, it is the second tallest of the “Seven Summits.”  For 10 points, identify this mountain, the tallest in South America.

ANSWER:  Mt. Aconcagua [accept Cerro Aconcagua]

18.  He wrote of a "looking-glass man" who was also a "liar, fool, dreamer, play-actor," and this author wrote of passengers who ask the conductor "What place is this / Where are we now" in "Grass."  In another work, he described a figure with "dust all over his mouth, laughing with white teeth," and "flinging magnetic curses."  The author of Abraham Lincoln:  The War Years, in one poem, he describes an entity that "sits looking over harbor and city," and described a town as 'Tool Maker," "Stacker of Wheat," and "City of the Big Shoulders."  For 10 points, identify this author of "Fog" and "Chicago."

ANSWER:  Carl August Sandburg

19.  The standard form of this equation assumes that the vorticity of the system is zero: if that’s the case, this equation can be derived directly by line integrating the Navier-Stokes equations along a streamline; dividing the result of that integration through by the gravitational potential energy density yields the head form of this equation. This equation that can be stated symbolically as half rho v-squared plus rho z g plus p is constant, where rho is the fluid density, v its velocity, z its height, g the gravitational acceleration and p the pressure; it is thus a form of energy conservation for a fluid. For 10 points, name this equation named for a Swiss mathmatician with some equally mathematical forebears.

ANSWER: Bernoulli’s principle [or Bernoulli’s equation]
20.  One side in this conflict adapted British tactics in its "strategic hamlet" program, which was meant to strengthen the defense of rural areas, and the so-called Christmas bombing occurred during it.  McGeorge Bundy argued for a policy of "sustained reprisal," and the USS Maddox was destroyed during this conflict.  Operation Rolling Thunder was undertaken in this conflict, and the president gain broad powers through the Gulf of Tonkin Resolution.  For 10 points, identify this war that saw the United States lose to the Viet Cong.

ANSWER:  Vietnam War [prompt on "American War," accept "War Against the Americans to Save the Nation" or "Second Indochina War"]
